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QUESTION 1

How can you verify that encrypted Lotus Notes traffic is correctly optimized? 

A. Looking at the Current Connections report for a successful connection that should appear as NOTESENCRYPT. 

B. Double checking that encrypted Lotus Notes is enabled. 

C. Restarting the service. 

D. Looking at the Current Connections report for an unsuccessful connection that should appear as NOTES-
ENCRYPT. 

Correct Answer: A 

 

QUESTION 2

How many in-path rules will a LAN-initiated (i.e. SYN packet arrives at a LAN port of an In-path interface) single
connection match on an Interceptor appliance? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: B 

 

QUESTION 3

What are the default port labels on an Interceptor appliance? 

A. Optimized, Pass-through, Blocked 

B. Interactive, RBT-Proto, Secure 

C. RBT-Proto, Enabled, Disabled 

D. Named differently from those on the Steelhead appliance 

E. Port labels do not exist on an Interceptor appliance 

Correct Answer: B 

 

QUESTION 4

-- Exhibit 
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-- Exhibit -Refer to the exhibit. What does the screenshot represent? (Select 2) 

A. The policy TestPolicy1 was created and was implemented on all the Steelhead appliance on the Global group. 

B. The policy TestPolicy1 was created and was not implemented on all the Steelhead appliances on the Global group. 

C. The TestPolicy1 will be implemented on the Global group Steelhead appliances after a Push operation. 

D. The TestPolicy1 will not be implemented on the Global group Steelhead appliances. There is a configuration error. 

Correct Answer: BC 

 

QUESTION 5

Which physical Steelhead interface communicates with the Interceptor appliance? 

A. AUX 

B. Primary 

C. wan0_0 
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D. B and C 

E. A, B, and C 

Correct Answer: D 
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